Filomat 33:7 (2019), 2107–2111 https://doi.org/10.2298/FIL1907107A



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Operator Inequalities Related to p-Angular Distances

Davood Afkhami Taba^a, Hossein Dehghan^b

^aDepartment of Mathematics, Islamic Azad University, Bandar Abbas Branch, Iran ^bDepartment of Mathematics, Institute for Advanced Studies in Basic Sciences (IASBS), Gava Zang, Zanjan 45137-66731, Iran

Abstract. For any nonzero elements *x*, *y* in a normed space *X*, the angular and skew-angular distance is respectively defined by $\alpha[x, y] = \left\| \frac{x}{\|x\|} - \frac{y}{\|y\|} \right\|$ and $\beta[x, y] = \left\| \frac{x}{\|y\|} - \frac{y}{\|x\|} \right\|$. Also inequality $\alpha \le \beta$ characterizes inner product spaces. Operator version of α_p has been studied by Pečarić, Rajić, and Saito, Tominaga, and Zou et al.

In this paper, we study the operator version of p-angular distance β_p by using Douglas' lemma. We also prove that the operator version of inequality $\alpha_p \leq \beta_p$ holds for normal and double commute operators. Some examples are presented to show essentiality of these conditions.

1. Introduction

Let $B(\mathcal{H})$ be the algebra of all bounded linear operators acting on a complex Hilbert space \mathcal{H} . For $T \in B(\mathcal{H})$, we denote by |T| the absolute value operator of T, that is, $|T| = (T^*T)^{\frac{1}{2}}$, where T^* stands for the adjoint operator of T. A self-adjoint operator $T \in B(\mathcal{H})$ is said to be positive if $(Tx, x) \ge 0$ for all $x \in \mathcal{H}$. For self-adjoint operators A and B in $B(\mathcal{H})$, we write $A \le B$ if B - A is positive.

For $A, B \in B(\mathcal{H})$, let A = U|A| and B = V|B| be polar decompositions of A and B, respectively. By using a simple method Zou et al. [11, Theorem 2.1] obtained an inequality for absolute value operators as follows:

$$|(U-V)|A||^2 \leq |A-B|^2 + (|A|-|B|)^2 - (T+T^*),$$
(1)

where $T = (|A| - |B|)V^*(A - B)$. It is a refinement of the following inequality due to Saito and Tominaga [10, Theorem 2.3]:

$$|(U - V)|A||^2 \leq p|A - B|^2 + q(|A| - |B|)^2.$$
⁽²⁾

Inequality (2) is a generalization of the following inequality without invertibility condition on |*A*| and |*B*|:

$$\left|A|A|^{-1} - B|B|^{-1}\right|^{2} \le |A|^{-1} \left(p|A - B|^{2} + q(|A| - |B|)^{2}\right)|A|^{-1}.$$
(3)

To illustrate the problem we need to mention several lines about the origin of the above inequalities.

²⁰¹⁰ Mathematics Subject Classification. Primary 26D15; Secondary 47A63

Keywords. Dunkl-Williams inequality; operator inequalities; operator absolute value; p-angular distance

Received: 25 April 2016; Accepted: 12 February 2018

Communicated by Dragana Cvetković Ilić

Research supported by Islamic Azad University, Bandar Abbas Branch

Email addresses: afkhami420@yahoo.com (Davood Afkhami Taba), hossein.dehgan@gmail.com (Hossein Dehghan)

Let $\alpha[x, y] = \left\| \frac{x}{\|x\|} - \frac{y}{\|y\|} \right\|$ be the *angular distance* between two nonzero elements *x* and *y* in a normed linear space *X*, which introduced by Clarkson in [1]. Over the years, the following interesting estimations of $\alpha[x, y]$ have been obtained:

$$\alpha[x,y] \leq \frac{\|x-y\|+\|\|x\|-\|\|y\|}{\max\{\|x\|,\|y\|\}} \leq \frac{\sqrt{2}\|x-y\|^2 + 2(\|x\|-\|y\|)^2}{\max\{\|x\|,\|y\|\}}$$
(4)

$$\leq \frac{2||x-y||}{\max\{||x||, ||y||\}} \leq \frac{4||x-y||}{||x|| + ||y||}.$$
(5)

The first and second bound in (4), obtained respectively by Maligranda [6] and Pečarić and Rajić [9], are refinements of the Massera-Schaffer inequality (first bound in (5)) proved in 1958 [8], which is stronger than the Dunkl-Williams inequality (second bound in (5)) proved in [4].

In fact, inequality (3) for p = q = 2 is operator version of the second bound in (4).

On the other hand, Dehghan [2] introduced the concept of *skew-angular distance* $\beta[x, y] = \left\| \frac{x}{\|y\|} - \frac{y}{\|x\|} \right\|$ and proved that $\alpha[x, y] \leq \beta[x, y]$ if and only if *X* is an inner product space. Moreover, he obtained the following inequalities:

$$\beta[x, y] \leq \frac{\|x - y\|}{\max\{\|x\|, \|y\|\}} + \frac{\|\|x\| - \|y\|\|}{\min\{\|x\|, \|y\|\}}$$
(6)

$$\leq \sqrt{\frac{2||x-y||^2}{\max^2\{||x||, ||y||\}} + \frac{2(||x|| - ||y||)^2}{\min^2\{||x||, ||y||\}}}.$$
(7)

After then p-angular distance $\alpha_p[x, y]$ and skew p-angular distance $\beta_p[x, y]$ have been studied extensively(see [5] and references therein).

The main aim of this paper is to compare the operator version of $\alpha_p[x, y]$ and $\beta_p[x, y]$. To proceed in this direction we first provide an appropriate bound for $\beta_p[x, y]$ by using Douglas' lemma [3]. Next, we prove that inequality $\alpha_p[A, B] \leq \beta_p[A, B]$ holds for normal and double commute operators. By some examples we show that the mentioned conditions are essential.

2. Main results

We begin with the following lemma which plays basic role in the sequel.

Lemma 2.1. (*Douglas' lemma* [3, *Theorem 1*]) If A and B are bounded operators on a Hilbert space \mathcal{H} such that $A^*A \leq \lambda^2 B^*B$ for some $\lambda \geq 0$, then there exists a unique operator $C \in B(\mathcal{H})$ so that A = CB, $ker(A^*) = ker(C^*)$, $im(C^*) \subseteq im(B)$ and $||C||^2 = inf\{\mu : A^*A \leq \mu B^*B\}$.

Let $A, B \in B(\mathcal{H})$, and

$$A = U|A| \quad \text{and} \quad B = V|B| \tag{8}$$

be polar decompositions of *A* and *B*, respectively. One may obtain this from Douglas' lemma by considering $A^*A = |A||A|$ and $B^*B = |B||B|$. Moreover, if $A^*A \le \lambda^2 B^*B$ and $B^*B \le \mu^2 A^*A$ for some $\lambda, \mu \ge 0$, then there exist unique operators $C, D \in B(\mathcal{H})$ such that

$$A = C|B| \quad \text{and} \quad B = D|A|. \tag{9}$$

The following theorem is our first main result. Note that invertibility of |A| and |B| is not needed.

Theorem 2.2. Let $A, B \in B(\mathcal{H})$ be as in (8) and (9), p > 1 and let r, s > 1 with $\frac{1}{r} + \frac{1}{s} = 1$. Then

$$|C|B|^{p} - D|A|^{p}|^{2} \le |(C - V)|B|^{p}|^{2} + |B|(|A|^{p-1} - |B|^{p-1})^{2}|B| - (T + T^{*})$$
(10)

$$\leq r|(C-V)|B|^{p}|^{2} + s|B|(|A|^{p-1} - |B|^{p-1})^{2}|B|$$
(11)

where $T = (|A|^{p-1} - |B|^{p-1})^2 |B| V^* (C - V) |B|^p$.

Proof. Let *I* be the identity operator on \mathcal{H} . Since $V^*V \leq I$, we observe that

$$\left| V|B|(|A|^{p-1} - |B|^{p-1}) \right|^2 \le |B|(|A|^{p-1} - |B|^{p-1})^2 |B|.$$
(12)

Hence

$$\begin{split} |C|B|^{p} - D|A|^{p}|^{2} &= \left|C|B|^{p} - V|B||A|^{p-1}\right|^{2} = \left|C|B|^{p} - V|B|^{p} + V|B|^{p} - V|B||A|^{p-1}\right|^{2} \\ &= \left|(C - V)|B|^{p} - V|B|(|A|^{p-1} - |B|^{p-1})\right|^{2} \\ &= \left|(C - V)|B|^{p}|^{2} + \left|V|B|(|A|^{p-1} - |B|^{p-1})\right|^{2} - (T + T^{*}) \\ &\leq \left|(C - V)|B|^{p}|^{2} + |B|(|A|^{p-1} - |B|^{p-1})^{2}|B| - (T + T^{*}), \end{split}$$

which is inequality (10). To prove (11), we first note that (r - 1)(s - 1) = 1. This together with (12) implies that

$$\begin{aligned} r \left| (C - V) |B|^{p} \right|^{2} + s |B| (|A|^{p-1} - |B|^{p-1})^{2} |B| \\ &- \left(\left| (C - V) |B|^{p} \right|^{2} + |B| (|A|^{p-1} - |B|^{p-1})^{2} |B| - (T + T^{*}) \right) \\ &= (r - 1) \left| (C - V) |B|^{p} \right|^{2} + (s - 1) |B| (|A|^{p-1} - |B|^{p-1})^{2} |B| + T + T^{*} \\ &\geq (r - 1) \left| (C - V) |B|^{p} \right|^{2} + (s - 1) |V|B| (|A|^{p-1} - |B|^{p-1}) \right|^{2} + T + T^{*} \\ &= \left| \sqrt{r - 1} (C - V) |B|^{p} + \sqrt{s - 1} V |B| (|A|^{p-1} - |B|^{p-1}) \right|^{2} \\ &\geq 0, \end{aligned}$$

which completes the proof. \Box

Remark 2.3. By the proof above, we see that the equality in (10) holds if and only if $(|A|^{p-1} - |B|^{p-1})|B|V^*V|B| = |A|^{p-1} - |B|^{p-1}$, and the equality in (11) holds if and only if $(|A|^{p-1} - |B|^{p-1})|B|V^*V|B| = |A|^{p-1} - |B|^{p-1}$ and $r(C-V)|B|^p = sV|B|(|A|^{p-1} - |B|^{p-1})$.

From now on we shall use the notations

$$\alpha_p[A, B] = |A|A|^{p-1} - B|B|^{p-1}|$$
 and $\beta_p[A, B] = |A|B|^{p-1} - B|A|^{p-1}|$,

where *A* and *B* are operators in $B(\mathcal{H})$ with invertible absolute values.

Corollary 2.4. Let $A, B \in B(\mathcal{H})$ be operators where |A| and |B| are invertible, and let r, s > 1 with $\frac{1}{r} + \frac{1}{s} = 1$. Then

$$\beta_p^2[A,B] \le r|B|^{p-1}|A-B|^2|B|^{p-1} + s|B|\left(|A|^{p-1} - |B|^{p-1}\right)^2|B|.$$
(13)

The equality in (13) holds if and only if $r(A - B)|B|^{p-1} = sB(|A|^{p-1} - |B|^{p-1})$.

Proof. Since |A| and |B| are invertible, it is easy to verify that $|A| \ge mI$ and $|B| \ge nI$ for some m, n > 0. Thus

$$A^*A \le \lambda^2 B^*B, \quad B^*B \le \mu^2 A^*A, \tag{14}$$

for some $\lambda, \mu > 0$ with $\mu^2 \lambda^2 \ge 1$. By Douglas' lemma there exist unique operators $C, D \in B(\mathcal{H})$ such that A = C|B| and B = D|A|. Then $C = A|B|^{-1}$ and $D = B|A|^{-1}$. We also have $V = B|B|^{-1}$. These together with Theorem 2.2 imply that

$$\begin{split} \beta_p^2[A,B] &= \left| A|B|^{p-1} - B|A|^{p-1} \right|^2 = |C|B|^p - D|A|^p|^2 \\ &\leq r|(C-V)|B|^p|^2 + s|B|(|A|^{p-1} - |B|^{p-1})^2|B| \\ &= r\left| (A-B)|B|^{p-1} \right|^2 + s|B|(|A|^{p-1} - |B|^{p-1})^2|B| \\ &= r|B|^{p-1}|A-B|^2|B|^{p-1} + s|B|(|A|^{p-1} - |B|^{p-1})^2|B|, \end{split}$$

2

(16)

which is the desired inequality. Considering Remark 2.3, the equality in (13) holds if and only if $r(C-V)|B|^p = sV|B|(|A|^{p-1} - |B|^{p-1})$. Substituting $C = A|B|^{-1}$ and $V = B|B|^{-1}$ we have $r(A - B)|B|^{p-1} = sV|B|(|A|^{p-1} - |B|^{p-1})$ which is equivalent with $r(A - B)|B|^{p-1} = sB(|A|^{p-1} - |B|^{p-1})$. \Box

Remark 2.5. Interchanging the operators A and B in (13) we also have

$$\beta_p^2[A,B] \le r|A|^{p-1}|A-B|^2|A|^{p-1} + s|A| \left(|B|^{p-1} - |A|^{p-1}\right)^2|A|.$$
(15)

The equality in (13) holds if and only if $r(A - B)|A|^{p-1} = sA(|A|^{p-1} - |B|^{p-1}).$

Next, we provide sufficient and essential conditions for inequality $\alpha_p[A, B] \leq \beta_p[A, B]$.

Theorem 2.6. Let A and B be normal operators such that AB = BA, and |A| and |B| are invertible. If p < 1, then

$$\alpha_p[A,B] \le \beta_p[A,B].$$

For p > 1 the inequality reverses. The equality holds if and only if |A| = |B|.

Proof. It follows from (14) that $|A| \le |B|$ or $|B| \le |A|$. On the other hand α_p and β_p are symmetric. So, without loss of generality we may assume that $|A| \le |B|$. By the Löwner-Heinz inequality, it is sufficient to prove that $\alpha_p^2[A, B] \le \beta_p^2[A, B]$. First, we note that

$$\beta_{p}^{2}[A, B] - \alpha_{p}^{2}[A, B] = |A|B|^{p-1} - B|A|^{p-1}|^{2} - |A|A|^{p-1} - B|B|^{p-1}|^{2}$$

$$= (|B|^{p-1}A^{*} - |A|^{p-1}B^{*})(A|B|^{p-1} - B|A|^{p-1})$$

$$- (|A|^{p-1}A^{*} - |B|^{p-1}B^{*})(A|A|^{p-1} - B|B|^{p-1})$$

$$= |B|^{p-1}|A|^{2}|B|^{p-1} + |A|^{p-1}|B|^{2}|A|^{p-1} - |B|^{p-1}A^{*}B|A|^{p-1} - |A|^{p-1}B^{*}A|B|^{p-1}$$

$$- (|A|^{p-1}|A|^{2}|A|^{p-1} + |B|^{p-1}|B|^{2}|B|^{p-1} - |A|^{p-1}A^{*}B|B|^{p-1} - |B|^{p-1}B^{*}A|A|^{p-1})$$

$$= |B|^{p-1}(|A|^{2} - |B|^{2})|B|^{p-1} - |A|^{p-1}(|A|^{2} - |B|^{2})|A|^{p-1}$$

$$+ |B|^{p-1}(B^{*}A - A^{*}B)|A|^{p-1} - |A|^{p-1}(B^{*}A - A^{*}B)|B|^{p-1}.$$
(17)

Let C(A) be the *C**-algebra generated by *A* and *I*. Since *A* is normal, then C(A) is a commutative *C**-algebra. Moreover, by the Fuglede-Putnam theorem, *A* and *B* are double commuting operators. Double commutativity of *A* and *B* implies that *A* and *A** commute with *B* (and *B**) and so all elements of C(A) especially |A| and $|A|^{p-1}$ commute with *B* (and *B**). Until now, we know that the operators *A*, *A**, |A| and $|A|^{p-1}$ commute with *B* and *B**. Therefore, they commute with all elements of C(B) especially |B| and $|B|^{p-1}$. Thus

$$|B|^{p-1}(|A|^{2} - |B|^{2})|B|^{p-1} - |A|^{p-1}(|A|^{2} - |B|^{2})|A|^{p-1}$$

= $((|B|^{2})^{p-1} - (|A|^{2})^{p-1})(|A|^{2} - |B|^{2}) \ge 0$ (18)

and

 $|B|^{p-1}(B^*A - A^*B)|A|^{p-1} = |A|^{p-1}(B^*A - A^*B)|B|^{p-1}.$

These together with (17) imply that

$$\beta_p^2[A,B] - \alpha_p^2[A,B] = (|B|^{p-1}|A| - |A|^{p-1}|B|)^2 \ge 0.$$

For the case p > 1, the factors in (18) have different sign. This completes the proof. \Box

The following examples show that all the hypotheses of Theorem 2.6 are essential, i.e., if any one omitted, inequality (16) no longer holds.

Example 2.7. Let

$$A = \left[\begin{array}{cc} 1 & 3 \\ 0 & 3 \end{array} \right], \quad B = \left[\begin{array}{cc} 1 & 0 \\ 0 & 1 \end{array} \right]$$

be matrix representations of two operators A and B on a two-dimensional Hilbert space with respect to some fixed orthonormal basis. It is clear that A is not normal but AB = BA. Using the software MAPLE 16 we observe that

$$\begin{vmatrix} A|B|^{-1} - B|A|^{-1} \end{vmatrix} = \frac{1}{\sqrt{4810}} \begin{bmatrix} 29 & -11\\ -11 & 163 \end{bmatrix},$$
$$\begin{vmatrix} A|A|^{-1} - B|B|^{-1} \end{vmatrix} = \sqrt{\frac{2}{5}} \begin{bmatrix} 1 & 0\\ 0 & 1 \end{bmatrix}$$

and the matrix $\beta_0[A, B] - \alpha_0[A, B]$ has two eigenvalues with different sign. Hence it is not positive and so inequality (16) does not hold.

Example 2.8. Let

$$A = \left[\begin{array}{cc} 0 & 1 \\ 1 & 0 \end{array} \right], \quad B = \left[\begin{array}{cc} 2 & 0 \\ 0 & 1 \end{array} \right]$$

be matrix representations of two operators A and B on a two-dimensional Hilbert space with respect to some fixed orthonormal basis. It is clear that A and B are normal but A does not commute with B. Again, using the software MAPLE 16 we observe that

$$\begin{vmatrix} A|B|^{-1} - B|A|^{-1} \end{vmatrix} = \frac{1}{\sqrt{37}} \begin{bmatrix} \frac{23}{2} & -5\\ -5 & 4 \end{bmatrix},$$
$$\begin{vmatrix} A|A|^{-1} - B|B|^{-1} \end{vmatrix} = \begin{bmatrix} 1 & -1\\ -1 & 1 \end{bmatrix}$$

and the matrix $|A|B|^{-1} - B|A|^{-1}| - |A|A|^{-1} - B|B|^{-1}|$ has two eigenvalues with different sign. Hence it is not positive and so inequality (16) does not hold.

References

- [1] J.A. Clarkson, Uniformly convex spaces, Trans. Amer. Math. Soc. 40 (1936), 396-414.
- [2] H. Dehghan, A characterization of inner product spaces related to the skew-angular distance, Math. Notes 93 (4) (2013) 556–560.
 [3] R.G. Douglas, On Majorization, Factorization, and Range Inclusion of Operators on Hilbert Space, Proc. Amer. Math. Soc. 17 (1966), 413-415.
- [4] C.F. Dunkl, K.S. Williams, A simple norm inequality, Amer. Math. Monthly 71 (1964), 53-54.
- [5] S. Habibzadeh, M.S. Moslehian, J. Rooin, Geometric aspects of p-angular and skew p-angular distances, Tokyo J. Math. 41 (1) (2018) 253–272.
- [6] L. Maligranda, Simple norm inequalities, Amer. Math. Mounthly 113 (2006), 256-260.
- [7] L. Maligranda, Some remarks on the triangle inequality for norms, Banach J. Math. Anal. 2 (2008), no. 2, 31-41.
- [8] J.L. Massera, J.J. Schaffer, Linear differential equations and functional analysis. I, Ann. of Math. 67 (1958), 517-573.
- [9] J. Pečarić, R. Rajić, Inequalities of the Dunkl-Williams type for absolute value operators, J. Math. Inequal. 4 (2010) 1–10.
- [10] K.-S. Saito, M. Tominaga, A Dunkl-Williams type inequality for absolute value operators, Linear Algebra Appl. 432 (2010) 3258–3264.
- [11] L. Zou, C. He, S. Qaisar, Inequalities for absolute value operators, Linear Algebra Appl. 438 (2013) 436-442.

2111